HYERS-ULAM STABILITY OF THE QUADRATIC EQUATION OF PEXIDER TYPE

SOON-MO JUNG AND PRASANNA K. SAHOO

ABSTRACT. In this paper, we will prove the Hyers-Ulam stability of the quadratic functional equation of Pexider type, $f_1(x+y) + f_2(x-y) = f_3(x) + f_4(y)$.

1. Introduction

Given an operator T and a solution class $\{u\}$ with the property that T(u)=0, when does $\|T(v)\| \leq \varepsilon$ for an $\varepsilon>0$ imply that $\|u-v\| \leq \delta(\varepsilon)$ for some u and for some $\delta>0$? This problem is called the stability of the functional transformation. A great deal of work has been done in connection with the ordinary and partial differential equations. In 1940 S. M. Ulam [23] asked the following problem: "Give conditions in order for a linear mapping near an approximately linear mapping to exist." Further, in 1968 S. M. Ulam [24] proposed the general problem: "When is it true that by changing a little the hypotheses of a theorem one can still assert that the thesis of the theorem remains true or approximately true?" In 1978 P. M. Gruber [10] proposed the following Ulam type problem: "Suppose a mathematical object satisfies a certain property approximately. Is it then possible to approximate this object by objects, satisfying the property exactly?" According to P. M. Gruber this kind of stability problems is of particular interest in probability theory.

If f is a function from a normed vector space into a Banach space and satisfies $||f(x+y)-f(x)-f(y)|| \le \varepsilon$, D. H. Hyers [11] proved that there exists an additive function A such that $||f(x)-A(x)|| \le \varepsilon$. If f(x) is a real continuous function of x over \mathbf{R} , and $||f(x+y)-f(x)-f(y)|| \le \varepsilon$, it was shown by D. H. Hyers and S. M. Ulam [14] that there exists a constant k such that $||f(x)-kx|| \le 2\varepsilon$. Taking these results into account, we say that the additive Cauchy equation ||f(x+y)|| = ||f(x)+f(y)|| is stable

Received October 2, 2000. Revised December 11, 2000.

²⁰⁰⁰ Mathematics Subject Classification: Primary 39B82, 39B62.

Key words and phrases: Hyers-Ulam stability, quadratic equation of Pexider type.

in the sense of Hyers and Ulam. The interested reader should refer to [7, 8, 9, 12, 13, 15, 16, 20] for an indepth account on the subject of stability of functional equations.

The quadratic function $f(x) = cx^2 \ (x \in \mathbf{R})$ satisfies the functional equation

(1)
$$f(x+y) + f(x-y) = 2f(x) + 2f(y).$$

Hence, the above equation is called the quadratic functional equation, and every solution of the quadratic equation (1) is called a quadratic function. It is well known that a function $f: E_1 \to E_2$ between vector spaces is quadratic if and only if there exists a unique symmetric function $B: E_1 \times E_1 \to E_2$, which is additive in x for each fixed y, such that f(x) = B(x, x) for any $x \in E_1$ (see [1]).

In Section 2, we will introduce some theorems which are indispensable for proving our main result of this paper. In the last section, we will apply some ideas from [17] and [18] to the proof of Hyers-Ulam stability of the quadratic functional equation of Pexider type, $f_1(x+y) + f_2(x-y) = f_3(x) + f_4(y)$.

2. Preliminaries

In 1941, D. H. Hyers [11] presented a celebrated theorem concerning the stability of additive functions between Banach spaces. Later in 1987, G. L. Forti [6] extended the domain of the relevant functions of Hyers's theorem to an arbitrary amenable semigroup. Indeed, Forti proved the following theorem:

THEOREM 1. Let G be an amenable semigroup and let E be a Banach space. If a function $f: G \to E$ satisfies the inequality

$$||f(xy) - f(x) - f(y)|| \le \varepsilon$$

for some $\varepsilon \geq 0$ and for all $x,y \in G$, then there exists a unique homomorphism $H:G \to E$ such that

$$||f(x) - H(x)|| \leq \varepsilon$$

for all $x \in G$.

The Hyers-Ulam stability of the quadratic functional equation (1) was first proved by F. Skof [22] for functions from a normed space into a Banach space. P. W. Cholewa [3] demonstrated that Skof's theorem is also valid if the relevant domain is replaced by an abelian group. Later,

S. Czerwik [4] proved the Hyers-Ulam-Rassias stability of the quadratic functional equation which includes the following theorem as a special case:

THEOREM 2. Let E_1 be a normed space and let E_2 be a Banach space. If a function $f: E_1 \to E_2$ satisfies the inequality

$$||f(x+y)+f(x-y)-2f(x)-2f(y)|| \le \varepsilon$$

for some $\varepsilon \geq 0$ and for all $x, y \in E_1$, then there exists a unique quadratic function $Q: E_1 \to E_2$ such that

$$||f(x) - Q(x)|| \le \frac{1}{3}(\varepsilon + ||f(0)||)$$

for all $x \in E_1$. Moreover, if f(tx) is continuous in t for each fixed $x \in E_1$, then $Q(tx) = t^2Q(x)$ for all $t \in \mathbb{R}$ and $x \in E_1$.

Theorem of Czerwik was further generalized by J. M. Rassias [19], and also by C. Borelli and G. L. Forti [2]. In [5], S. Czerwik investigated the stability problem of the 'partially pexiderized' quadratic functional equation, $f_1(x+y) + f_1(x-y) = f_2(x) + f_2(y)$. For more information on the stability of the quadratic functional equation, one can refer to [21].

3. Hyers-Ulam stability

In this section, let $(E_1, \|\cdot\|)$ be a real normed space and $(E_2, \|\cdot\|)$ a Banach space.

In the following theorem, we will apply some ideas from [17] and [18] to the proof of Hyers-Ulam stability of the quadratic functional equation of Pexider type.

THEOREM 3. If functions $f_1, f_2, f_3, f_4: E_1 \rightarrow E_2$ satisfies the inequality

(2)
$$||f_1(x+y) + f_2(x-y) - f_3(x) - f_4(y)|| \leq \varepsilon$$

for some $\varepsilon \geq 0$ and for all $x, y \in E_1$, then there exists a unique quadratic function $Q: E_1 \to E_2$ and exactly two additive functions $A_1, A_2: E_1 \to E_2$

 E_2 such that

(3)
$$\begin{cases} ||f_{1}(x) - Q(x) - A_{1}(x) - A_{2}(x) - f_{1}(0)|| \leq \frac{137}{3} \varepsilon, \\ ||f_{2}(x) - Q(x) - A_{1}(x) + A_{2}(x) - f_{2}(0)|| \leq \frac{125}{3} \varepsilon, \\ ||f_{3}(x) - 2Q(x) - 2A_{1}(x) - f_{3}(0)|| \leq \frac{136}{3} \varepsilon, \\ ||f_{4}(x) - 2Q(x) - 2A_{2}(x) - f_{4}(0)|| \leq \frac{124}{3} \varepsilon \end{cases}$$

for all $x \in E_1$. Moreover, if $f_3(tx)$ and $f_4(tx)$ are continuous in $t \in \mathbf{R}$ for each $x \in E_1$, then the Q satisfies $Q(tx) = t^2Q(x)$ for all $x \in E_1$ and A_1 , A_2 are linear.

Proof. Let us define $F_i(x) = f_i(x) - f_i(0)$, and by F_i^e and F_i^o denote the even part and the odd part of F_i for i = 1, 2, 3, 4. Then, we get $F_i(0) = F_i^e(0) = F_i^o(0) = 0$ for i = 1, 2, 3, 4.

By putting x = y = 0 in (2) and using the resulting inequality and (2), we have

(4)
$$||F_1(x+y) + F_2(x-y) - F_3(x) - F_4(y)|| \le 2\varepsilon$$

for all $x, y \in E_1$. First we replace x and y in (4) by -x and -y, respectively, to get

(5)
$$||F_1(-x-y) + F_2(-x+y) - F_3(-x) - F_4(-y)|| \le 2\varepsilon.$$

Next we add (subtract) the argument of the norm of the inequality (5) to (from) that of the inequality (4) and then taking the norm and manipulating the resulting expression, we obtain

(6)
$$||F_1^e(x+y) + F_2^e(x-y) - F_3^e(x) - F_4^e(y)|| \le 2\varepsilon,$$

(7)
$$||F_1^o(x+y) + F_2^o(x-y) - F_3^o(x) - F_4^o(y)|| \leq 2\varepsilon$$

for all $x, y \in E_1$.

If we put y = 0, x = 0 (and replace y by x), y = x, and y = -x in (6) respectively, then we get

(8)
$$||F_1^e(x) + F_2^e(x) - F_3^e(x)|| \le 2\varepsilon,$$

(9)
$$||F_1^e(x) + F_2^e(x) - F_4^e(x)|| \le 2\varepsilon,$$

(10)
$$||F_1^e(2x) - F_3^e(x) - F_4^e(x)|| \le 2\varepsilon,$$

(11)
$$||F_2^e(2x) - F_3^e(x) - F_4^e(x)|| \le 2\varepsilon$$

for all $x \in E_1$, respectively.

In view of (8) and (9), we see that

(12)
$$||F_3^e(x) - F_4^e(x)|| \le 4\varepsilon,$$

and it follows from (10) and (11) that

$$||F_1^e(x) - F_2^e(x)|| \le 4\varepsilon$$

for any x in E_1 . By using (6), (12) and (13), we have

$$||F_{2}^{e}(x+y) + F_{2}^{e}(x-y) - F_{4}^{e}(x) - F_{4}^{e}(y)||$$

$$\leq ||F_{1}^{e}(x+y) + F_{2}^{e}(x-y) - F_{3}^{e}(x) - F_{4}^{e}(y)||$$

$$+ ||F_{2}^{e}(x+y) - F_{1}^{e}(x+y)|| + ||F_{3}^{e}(x) - F_{4}^{e}(x)||$$

$$(14) \leq 10\varepsilon.$$

By putting y = 0 in (14), we get

(15)
$$||2F_2^e(x) - F_4^e(x)|| \leq 10\varepsilon.$$

Hence, (14) and (15) imply

$$\begin{split} \|F_4^e(x+y) + F_4^e(x-y) - 2F_4^e(x) - 2F_4^e(y)\| \\ &\leq 2 \|F_2^e(x+y) + F_2^e(x-y) - F_4^e(x) - F_4^e(y)\| \\ &+ \|F_4^e(x+y) - 2F_2^e(x+y)\| + \|F_4^e(x-y) - 2F_2^e(x-y)\| \\ &\leq 40\varepsilon \end{split}$$

for all $x, y \in E_1$.

By Theorem 2, there exists a unique quadratic function $Q:E_1\to E_2$ such that

(16)
$$||F_4^e(x) - 2Q(x)|| \le \frac{40}{3} \varepsilon$$

for all $x \in E_1$. Furthermore, if $f_4(tx)$ is continuous in $t \in \mathbf{R}$ for each $x \in E_1$, then the quadratic function Q satisfies $Q(tx) = t^2 Q(x)$ for all $x \in E_1$.

On account of (12), (13), (15) and (16), we get

$$||F_{1}^{e}(x) - Q(x)|| \le ||F_{1}^{e}(x) - F_{2}^{e}(x)|| + ||F_{2}^{e}(x) - \frac{1}{2}F_{4}^{e}(x)|| + ||\frac{1}{2}F_{4}^{e}(x) - Q(x)||$$

$$(17) \le \frac{47}{3}\varepsilon,$$

$$||F_{2}^{e}(x) - Q(x)|| \le ||F_{2}^{e}(x) - \frac{1}{2}F_{4}^{e}(x)|| + ||\frac{1}{2}F_{4}^{e}(x) - Q(x)|| \le \frac{35}{3}\varepsilon,$$

$$(19) \ \|F_3^e(x) - 2Q(x)\| \ \leq \ \|F_3^e(x) - F_4^e(x)\| + \|F_4^e(x) - 2Q(x)\| \ \leq \ \frac{52}{3} \, \varepsilon$$

for any $x \in E_1$.

As before, if we put y = 0, x = 0 (and replace y by x), y = x, and y = -x in (7) separately, then we obtain

(20)
$$||F_1^o(x) + F_2^o(x) - F_3^o(x)|| \leq 2\varepsilon,$$

(21)
$$||F_1^o(x) - F_2^o(x) - F_4^o(x)|| \le 2\varepsilon,$$

(22)
$$||F_1^o(2x) - F_3^o(x) - F_4^o(x)|| \le 2\varepsilon,$$

(23)
$$||F_2^o(2x) - F_3^o(x) + F_4^o(x)|| \le 2\varepsilon$$

for all $x \in E_1$, respectively.

Due to (20) and (21), we have

$$||2F_1^o(x) - F_3^o(x) - F_4^o(x)|| \le ||F_1^o(x) + F_2^o(x) - F_3^o(x)|| + ||F_1^o(x) - F_2^o(x) - F_4^o(x)||$$

$$(24) \leq 4\varepsilon$$

and

$$||2F_{2}^{o}(x) - F_{3}^{o}(x) + F_{4}^{o}(x)||$$

$$\leq ||F_{1}^{o}(x) + F_{2}^{o}(x) - F_{3}^{o}(x)|| + ||F_{2}^{o}(x) + F_{4}^{o}(x) - F_{1}^{o}(x)||$$

$$(25) \leq 4\varepsilon$$

for each $x \in E_1$.

Combining (22) with (24) yields

$$||F_{3}^{o}(2x) + F_{4}^{o}(2x) - 2F_{3}^{o}(x) - 2F_{4}^{o}(x)||$$

$$\leq ||F_{3}^{o}(2x) + F_{4}^{o}(2x) - 2F_{1}^{o}(2x)||$$

$$+||2F_{1}^{o}(2x) - 2F_{3}^{o}(x) - 2F_{4}^{o}(x)||$$

$$\leq 8\varepsilon.$$
(26)

Analogously, by (23) and (25), we get

$$||F_{3}^{o}(2x) - F_{4}^{o}(2x) - 2F_{3}^{o}(x) + 2F_{4}^{o}(x)||$$

$$\leq ||F_{3}^{o}(2x) - F_{4}^{o}(2x) - 2F_{2}^{o}(2x)||$$

$$+||2F_{2}^{o}(2x) - 2F_{3}^{o}(x) + 2F_{4}^{o}(x)||$$

$$\leq 8\varepsilon$$
(27)

for any $x \in E_1$. Now it follows from (26) and (27) that

$$||F_{3}^{o}(2x) - 2F_{3}^{o}(x)|| \leq \left\| \frac{1}{2} F_{3}^{o}(2x) + \frac{1}{2} F_{4}^{o}(2x) - F_{3}^{o}(x) - F_{4}^{o}(x) \right\| + \left\| \frac{1}{2} F_{3}^{o}(2x) - \frac{1}{2} F_{4}^{o}(2x) - F_{3}^{o}(x) + F_{4}^{o}(x) \right\|$$

$$\leq 8\varepsilon$$

$$(28)$$

and analogously

(29)
$$||F_4^o(2x) - 2F_4^o(x)|| \le 8\varepsilon$$

for all $x \in E_1$.

In view of (7), (24), (25), (28), and (29), we have

$$||F_{3}^{o}(x+y) + F_{4}^{o}(x+y) + F_{3}^{o}(x-y) - F_{4}^{o}(x-y) - F_{3}^{o}(2x) - F_{4}^{o}(2y)||$$

$$\leq ||2F_{1}^{o}(x+y) + 2F_{2}^{o}(x-y) - 2F_{3}^{o}(x) - 2F_{4}^{o}(y)||$$

$$+ ||F_{3}^{o}(x+y) + F_{4}^{o}(x+y) - 2F_{1}^{o}(x+y)||$$

$$+ ||F_{3}^{o}(x-y) - F_{4}^{o}(x+y) - 2F_{2}^{o}(x-y)||$$

$$+ ||2F_{3}^{o}(x) - F_{3}^{o}(2x)|| + ||2F_{4}^{o}(y) - F_{4}^{o}(2y)||$$

$$(30) \leq 28\varepsilon$$

for all $x, y \in E_1$. If we replace y in (30) by -y and then using the fact that F_4^o is an odd function, we get

$$||F_3^o(x-y) + F_4^o(x-y) + F_3^o(x+y) - F_4^o(x+y) - F_3^o(2x) + F_4^o(2y)||$$

$$\leq 28\varepsilon$$

From (30) and (31), we get

$$||F_{3}^{o}(x+y) + F_{3}^{o}(x-y) - F_{3}^{o}(2x)||$$

$$= \frac{1}{2}||F_{3}^{o}(x+y) + F_{4}^{o}(x+y) + F_{3}^{o}(x-y) - F_{4}^{o}(x-y)$$

$$-F_{3}^{o}(2x) - F_{4}^{o}(2y) + F_{3}^{o}(x-y) + F_{4}^{o}(x-y)$$

$$+F_{3}^{o}(x+y) - F_{4}^{o}(x+y) - F_{3}^{o}(2x) + F_{4}^{o}(2y)||$$

$$\leq \frac{1}{2}||F_{3}^{o}(x-y) + F_{4}^{o}(x-y) + F_{3}^{o}(x+y) - F_{4}^{o}(x+y)$$

$$-F_{3}^{o}(2x) + F_{4}^{o}(2y)|| + \frac{1}{2}||F_{3}^{o}(x-y) + F_{4}^{o}(x-y)$$

$$+F_{3}^{o}(x+y) - F_{4}^{o}(x+y) - F_{3}^{o}(2x) + F_{4}^{o}(2y)||$$

$$(32) \leq 28\varepsilon.$$

Similarly, from (30) and (31), we get

$$||F_{4}^{o}(x+y) - F_{4}^{o}(x-y) - F_{4}^{o}(2y)||$$

$$= \frac{1}{2}||F_{3}^{o}(x+y) + F_{4}^{o}(x+y) + F_{3}^{o}(x-y)$$

$$-F_{4}^{o}(x-y) - F_{3}^{o}(2x) - F_{4}^{o}(2y)$$

$$-\{F_{3}^{o}(x-y) + F_{4}^{o}(x-y) + F_{3}^{o}(x+y)$$

$$-F_{4}^{o}(x+y) - F_{3}^{o}(2x) + F_{4}^{o}(2y)\}||$$

$$\leq \frac{1}{2}||F_{3}^{o}(x-y) + F_{4}^{o}(x-y) + F_{3}^{o}(x+y)$$

$$-F_{4}^{o}(x+y) - F_{3}^{o}(2x) + F_{4}^{o}(2y)||$$

$$+\frac{1}{2}||F_{3}^{o}(x-y) + F_{4}^{o}(x-y) + F_{3}^{o}(x+y)$$

$$-F_{4}^{o}(x+y) - F_{3}^{o}(2x) + F_{4}^{o}(2y)||$$

$$(33) \leq 28\varepsilon.$$

By letting u = x + y and v = x - y in (32), we obtain $||F_3^o(u) + F_3^o(v) - F_3^o(u + v)|| \le 28\varepsilon$

for all $u, v \in E_1$. According to Theorem 1, there exists a unique additive function $A_1: E_1 \to E_2$ such that

$$||F_3^o(x) - 2A_1(x)|| \leq 28\varepsilon$$

for all x in E_1 . If, moreover, $f_3(tx)$ is continuous in $t \in \mathbf{R}$ for every fixed $x \in E_1$, then A_1 is a linear function.

By putting u = x - y and v = 2y in (33), we get

$$||F_4^o(u+v) - F_4^o(u) - F_4^o(v)|| \le 28\varepsilon$$

for all $u,v\in E_1$. By Theorem 1 again, there exists a unique additive function $A_2:E_1\to E_2$ such that

$$||F_4^o(x) - 2A_2(x)|| \le 28\varepsilon$$

for any x in E_1 . Furthermore, if $f_4(tx)$ is continuous in $t \in \mathbf{R}$ for all $x \in E_1$, then A_2 is also linear.

From (24), (25), (34) and (35) it follows that

$$||F_{1}^{o}(x) - A_{1}(x) - A_{2}(x)||$$

$$\leq \left| \left| F_{1}^{o}(x) - \frac{1}{2} F_{3}^{o}(x) - \frac{1}{2} F_{4}^{o}(x) \right| + \left| \left| \frac{1}{2} F_{3}^{o}(x) - A_{1}(x) \right| \right|$$

$$+ \left| \left| \frac{1}{2} F_{4}^{o}(x) - A_{2}(x) \right| \right|$$

$$(36) \leq 30\varepsilon$$

and

$$||F_{2}^{o}(x) - A_{1}(x) + A_{2}(x)||$$

$$\leq \left| \left| F_{2}^{o}(x) - \frac{1}{2}F_{3}^{o}(x) + \frac{1}{2}F_{4}^{o}(x) \right| \right| + \left| \left| \frac{1}{2}F_{3}^{o}(x) - A_{1}(x) \right| \right|$$

$$+ \left| \left| A_{2}(x) - \frac{1}{2}F_{4}^{o}(x) \right| \right|$$

$$(37) \leq 30\varepsilon$$

for each x in E_1 .

The inequalities in (3) are direct consequences of the inequalities (16), (17), (18), (19), (34), (35), (36) and (37).

Now, let Q', A'_1 , A'_2 : $E_1 \rightarrow E_2$ be another quadratic function and additive functions, respectively, satisfying the inequalities in (3) instead

of Q, A_1 and A_2 . Then, we have

$$||Q(x) + A_{2}(x) - Q'(x) - A'_{2}(x)||$$

$$\leq \left\| -\frac{1}{2} f_{4}(x) + Q(x) + A_{2}(x) + \frac{1}{2} f_{4}(0) \right\|$$

$$+ \left\| \frac{1}{2} f_{4}(x) - Q'(x) - A'_{2}(x) - \frac{1}{2} f_{4}(0) \right\|$$

$$\leq \frac{124}{3} \varepsilon$$
(38)

for each $x \in E_1$. Replacing x by -x in (38) and using the fact that quadratic functions are even and additive functions are odd, we get

(39)
$$||Q(x) - A_2(x) - Q'(x) + A_2'(x)|| \le \frac{124}{3} \varepsilon.$$

From (38) and (39), we see that

$$||Q(x) - Q'(x)||$$

$$= \frac{1}{2}||Q(x) + A_2(x) - Q'(x) - A'_2(x) + Q(x) - A_2(x) - Q'(x) + A'_2(x)||$$

$$\leq \frac{1}{2}||Q(x) + A_2(x) - Q'(x) - A'_2(x)||$$

$$+ \frac{1}{2}||Q(x) - A_2(x) - Q'(x) + A'_2(x)||$$

$$\leq \frac{124}{3} \varepsilon.$$

$$(40)$$

Similarly, again from (38) and (39), we get

$$||A_{2}(x) - A'_{2}(x)||$$

$$= \frac{1}{2}||Q(x) + A_{2}(x) - Q'(x) - A'_{2}(x)$$

$$-\{Q(x) - A_{2}(x) - Q'(x) + A'_{2}(x)\}||$$

$$\leq \frac{1}{2}||Q(x) + A_{2}(x) - Q'(x) - A'_{2}(x)||$$

$$+ \frac{1}{2}||Q(x) - A_{2}(x) - Q'(x) + A'_{2}(x)||$$

$$\leq \frac{124}{3} \varepsilon.$$

$$(41)$$

Hence (40) and (41) imply that Q(x) = Q'(x) and $A_2(x) = A'_2(x)$ for every $x \in E_1$. Similarly, we can show that $A_1(x) = A'_1(x)$ for any $x \in E_1$. Now the proof of the theorem is complete.

REMARK. Let us denote by $f_i \equiv f_j$ that $f_i(x) = f_j(x)$ for all $x \in E_1$. We can easily verify the following statements:

- (i) If $f_1 \equiv f_2$ in Theorem 3, then $A_2 \equiv 0$;
- (ii) If $f_3 \equiv f_4$ in Theorem 3, then $A_1 \equiv A_2$;
- (iii) If $2f_1 \equiv f_3$ in Theorem 3, then $A_2 \equiv 0$;
- (iv) If $2f_2 \equiv f_4$ in Theorem 3, then $A_1 \equiv 2A_2$;
- (v) If $2f_1 \equiv f_4$ in Theorem 3, then $A_1 \equiv 0$;
- (vi) If $2f_2 \equiv f_3$ in Theorem 3, then $A_2 \equiv 0$.

References

- J. Aczél and J. Dhombres, Functional Equations in Several Variables, Cambridge Univ. Press 1989.
- [2] C. Borelli and G. L. Forti, On a general Hyers-Ulam stability result, Internat. J. Math. Math. Sci. 18 (1995), 229-236.
- [3] P. W. Cholewa, Remarks on the stability of functional equations, Aequationes Math. 27 (1984), 76-86.
- [4] S. Czerwik, On the stability of the quadratic mapping in normed spaces, Abh. Math. Sem. Univ. Hamburg 62 (1992), 59-64.
- [5] ______, The stability of the quadratic functional equation, in Stability of Mappings of Hyers-Ulam Type (edited by Th. M. Rassias and J. Tabor), Hadronic Press Monogr. Math. 1994, pp. 81–91.
- [6] G. L. Forti, The stability of homomorphisms and amenability, with applications to functional equations, Abh. Math. Sem. Univ. Hamburg 57 (1987), 215–226.
- [7] _____, Hyers-Ulam stability of functional equations in several variables, Aequationes Math. 50 (1995), 143–190.
- [8] Z. Gajda, On stability of additive mappings, Internat. J. Math. Math. Sci. 14 (1991), 431-434.
- [9] P. Găvrută, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431-436.
- [10] P. M. Gruber, Stability of Isometries, Trans. Amer. Math. Soc. 245 (1978), 263–277.
- [11] D. H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. USA 27 (1941), 222-224.
- [12] D. H. Hyers, G. Isac, and Th. M. Rassias, Stability of Functional Equations in Several Variables, Birkhäuser 1998.
- [13] D. H. Hyers and Th. M. Rassias, Approximate homomorphisms, Aequationes Math. 44 (1992), 125-153.
- [14] D. H. Hyers and S. M. Ulam, Approximately convex functions, Proc. Amer. Math. Soc. 3 (1952), 821–828.

- [15] S.-M. Jung, On the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 204 (1996), 221-226.
- [16] _____, Hyers-Ulam-Rassias stability of functional equations, Dynam. Systems Appl. 6 (1997), 541-566.
- [17] _____, Quadratic functional equations of Pexider type, Internat. J. Math. Math. Sci. 24 (2000), 351-359.
- [18] _____, Stability of the quadratic equation of Pexider type, Abh. Math. Sem. Univ. Hamburg 70 (2000), to appear.
- [19] J. M. Rassias, On the stability of the Euler-Lagrange functional equation, C. R. Acad. Bulgare Sci. 45 (1992), 17-20.
- [20] Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297-300.
- [21] _____, On the stability of the quadratic functional equation and its applications, to appear.
- [22] F. Skof, Proprietá locali e approssimazione di operatori, Rend. Sem. Mat. Fis. Milano 53 (1983), 113-129.
- [23] S. M. Ulam, Problems in Modern Mathematics, Science Editions, Wiley 1964.
- [24] ______, A Collection of Mathematical Problems, Interscience Publishers, Inc., New York 1968.

Soon-Mo Jung
Mathematics Section
College of Science and Technology
Hong-Ik University
Chochiwon 339-701, Korea
E-mail: smjung@wow.hongik.ac.kr

Prasanna K. Sahoo Department of Mathematics University of Louisville Louisville, KY 40292, USA E-mail: sahoo@louisville.edu